[ Efficiency vs vertpos |

- 0.1
20.09
2
20.08
(&)
50.07
O
£0.06
0.05
0.04
0.03
0.02
0.0

P

Fi

...............................................

......................

......................

..............................................

9
9

0.95F-{}

- 4

0.
1072

Efficiend

107 1

—— DQ
—— DQ
—— DO

10 0?
TP vertr (cn%)

[—— DQW_orignal_stepZ_Tibar-phaseI-Newgeom
M_pixelCPETemplate_step2_ttbar-phasel-newgeom
M_pixelCPETemplateCutChiSquarel5_step2_ttbar-
M_pixelCPETemplateCutChiSquare5_step2_ttbar-p

ﬂhasel-newgeom
asel-newgeom_test

.....

.........................

....................

..................

10

TP vert z (cm)

[ Efficiency vs. sim PV z |

20 3

0

~0.05
>
£0.045
£
=0.04
9.035
o)
20.03
o
$9.025
[J]
0.02
0.015
0.01

0.005

10 15 20

Sim. PV z (cm)




	Contents
	Page 1


